Club Car Precedent Brush Guard
Installation Instructions

Black- Part# 7235

Gunmetal- Part# 7067

Stainless- Part# 7255

Parts List
Brush Guard-1 ﬂ
5/16 x 4 Bolts-2

3/8 Flatwashers-10

5/16 Locknuts-2

M10-1.5 Locknuts-2

JAKE’S
AX‘W@A wean, appropiials
ee lb’wTéc'Em/
1. Remove the stock bolts from the front

bumper.

2. Using the supplied 5/16 x 4 bolts, washers,
& locknuts reinstall the front bumper and
brush guard to the cart as shown in Figure 1. o -
NOTE- some models may need the stock =
holes slightly enlarged. NOTE- To level ? M10-1.5 Nurt

the brush guard use three of the supplied §|I1V3 3 :z = on stock
washers between the frame and brush aShor bolt
guard on each side of the cart as shown in
Figure 1.

3. Using the supplied M10-1.5 locknuts bolt /
the brush guard to the stock rear bolt of the [ ‘

front frame as shown in Figure 1.
4. Securely tighten all bolts.

-

S AIKES

=%~ Jinn
866—405-2537
www.jakesliftkits.com




